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Answer ALL Questions

[ The figures in the right margin indicate the full marks and corresponding course ontcomes. All

portions of each question must be answered sequentially. |

a

List the elements comprising a computer system. Find out the most crucial
component among them, Show the consequences for other components it this
essential component is neglected during the integration process

b)

Show the difference between Layered Architecture and Modular Architecture of
OS Structure,
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Arsume there is a process named 'L Explain the lite-oyele of the process and
illnstrate the franation from one state o another state according to Fig. 1

bterpret the tetm Zombie process here, :
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Consider the following set of processes with the length of the CPU burst time
given in millisecond. In this given scenario you will assume Jowest integer value
will not have the highest preference and highest integer value will not have the
lowest preference.

PN Priority Arrival Time Burst Time
Pl 2 6 1

22 i m 9

23 9 N 3
24 5 3 6

ps . A 5

Pe b4 P 16
T X0~ 15 8

J i 147 4

P9 3 59 I

a. Construct the Gantt Chart for the abov table using the Priority Preemptive
algorithm and identify the Average Turn s»round Time, Average Waiting
Time, Average Response Time and Throughput.

b. Identify the problem in priority scheduling? Would you relate it with your
solution according this above problem statement given in the table?

3. | a) | Construct the Gantt Chart and identify the average waiting time and [6]
average response time for the following processes in round robin where TQ =
2.5.
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b) | Priority Scheduling is a method of scheduling processes that is based on priority. | [7]
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